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A production manager wishes to instal two types of machine, type A and type B.
Type A machine requires 4 operators and occupies § m’ of floorspace.

Type B machine requires 6 operators and 16m’ of floorspace.

The manager is obliged to instal at least 6 of each type of machine.

There are 112 operators and 272 m” of floorspace available.

The profit per day on machine type A is IR£40 and on machiné type B IRE70.

How many machines of each type should the manager instal to maximize his
daily profits?

A factory makes two models of a product, a standard model and a deluxe
model. Each model is started on machine A and finished on machine B. The
machine time spent on each model is given in the table below:

Model Machine A | Machine B
Standard | 8 minutes 8 minutes
Deluxe ominutes | 12 minutes

In a given period machine A can operate for not more than 72 minutes and
machine B for not more than 96 minutes.

If x is the number of standard models and y the number of deluxe models made

over this given period, justify the inequality 8x + 6y =72.
What are the other inequalities?

If the profit on a standard model is IR€40 and on a deluxe model is IRES0, how

many models of each kind should the factory produce in the given period to
maximize profits?

. A manufacturer uses small trucks and large trucks to transport his products in

crates. Small trucks can take only 20 crates each while large trucks can take 30

crates each. Small trucks take 50 minutes and large trucks take 90 minutes each
to load.

On a certain day at least 180 crates must be transported and on that day only §
drivers, at most are available.

If the overall loading time is to be as short as possible, how many of each type of
truck should be used on that day?

Small truck | Large truck
Crates 2 £

Loading time 50 min 90 min
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